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3. MEODEE

(DFE A
P=(1+0.05A)Po
P far # (t)
A& B O R EFE(m?2)
Po:iF AR FEH = (t)
(2B &
fr EFHEG B E 2,040kg
OTEHESAEIL, FEHEMED 10%
(4) 7K Y-1nf B
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VEERFREMTE S LT 16m/s qw=8.54%/ H
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4. FEEE

FE A A=1.716 %X 3.429=5.884(m?2)

1 [ENCAf BT DR RATE Po=2.0(t)

B O FE R P=(1+0.05A)Po
=(1+0.05x5.884) X 2.0
=1.2942X 2.0
=2.588(t)
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5, E—ADE—RAL

AEICEAIFE—A> M W1=0.813(t)

0 ,=1.888(m)
M,= W10 ,=0.813 % 1.888=1.535(tm)

M EIC L D E— A B

0 ,=1.785(m)
M,=1.1P0 ,=1.1X2.588%1.785

=5.081(tm)
Mv=1.1P¢ ,= M+ M,=1.535+5.081=6.616(tm)

=661.6(tcm)

6. E—2ADIHN

IARDE—=LIEHTE—A 2 ME

M,/2=661.6/2=330.8(tcm)

1250 X125 X7.5X12.5

Wi —kE—A > b Ix=5,180cm*

W AR 2L 7Zx=414cm3
VT T A S=48.79¢m?2
0 b=Mv/2/Zx=330.8/414=0.799<1.6(t/cm?2)
B AWM
p= WP OB+ 288 1349 < 0.923(¢/ cm?)
2x48.79 2x48.79
7. KR E
(DA JE
5 X h=0.795+0.25=1.045(m)
£ & b=3.58(m) A=1.045 X 3.58=3.74(m2)
Cp=1.2 H=200(m) & LT

(2) B &

Pw=8.54/ HXCpXAX2
=8.54/ 200X 1.2X3.74X 2
=286.9(kg)

Pu= (W1+P) X 0.2=(0.813+2.588) X 0.2
=0.680(t)=680(kg)>Pw=286.9(kg)
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1 ROE—ALIEHTHE—A 2 ME
M,/2 %X 0.2=661.6/2 X 0.2=66.2(tcm)
1250X 125X 7.5X12.5
Wrmg —RE— A b Iy=337cm*
LTALEF Zy=53.9cm3
Wr i AR S=48.79cm?
o 1=(Mv/2 X 0.2)/Zy=66.2/53.9=1.228<1.6(t/cm?2)

8. u—J—mE

0 — 7 ——f&ATICVER 3 2 R EME 1%
R=(M,/2)/320+P/2+ W1/2=330.8/320+2.588/2+0.813/2
=2.734(t)=2734(kg)
R b=3(cm) R r=11(cm)
E=2.1x108(kg/cm?) & L T

R-E 2734%2.1x10°
=0.42 =0.42
Or b-r \/ 3x11
=5540(kg/cm?2)

9. & DIEE

3 ARD[90x45x3.2 TH x5 & LT
W= P/3=2.588/3=0.863(t)
Wit %k Z=17.8(cm?
FEETE DM RN A/N % Them &5 &
M=W(L-75)/4=0.863 X (194.1-75)/4=25.70(tcm)
0 100=25.70/17.8=1.444<1.6(t/cm?2)

10. X7 Y v JHhsREE

0— 7 ——@EATZEA T 2 R AL R=2734(kg) TH LMD, 2D
REO T —Z —8hZH DT — A 2 M

M,=R X 5=2734 X 5=13670(kgcm)

#il£=7(cm) 7=33.67(cm3)

o &= M,/Z=13670/33.67=406.0<1600(kg/cm?2)

11.385| 7

RX7 Y U7 DOEEEFH=0.001 & L7856
u=(0.1+3X0.001)/11=0.0094
E—LDMHEERK3%ETH &
F=(P+1.470) X (1 +0.03)
=(2.588+1.470) X (0.0094+0.03)=0.160(t)
A U FDEKET] S1=8300kg THIHIMNOEZETH 5D,
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12. B REBFEL L OO K

1 — 7 —HES 4 EpT CIFF L725A . R LI Ra, 5l & AAMIZ
Rb 9%k
FEfifr B P=2.588(t) 0 ,=1.785(m)
AARE B G=2.04(t) 0 =-0.299(m)
Rb =P X0 + GX0 )/3.2/2
=(2.588 X 1.785-2.04 X 0.299)/3.2/2=0.627(t)
Ra =(P+ G)/2-Rb=(2.588+2.04)/2+0.627=2.941(t)
$E->C Ra lTHEFIKE, Rb XHEDKI1& 705
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